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A BN =T NVIER 1 km 272 0 faak ket (LRI 94, 480 ./ km
A BN =T NVIER 1 km 72 0 faak ket (R 96, 134 M. km
A BN =T NVIER 1 km 272 0 faak ket (RIRUL) 96, 134 M. km
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AN —T VIER 1 km M7= Y kR 2% (REHR) 75,667 M./ km
ABN—TNER 1 km 4720 fisk et (LALER) 86,129 M km
ABNT —TNER 1 km Y720 fisk Rt (REFR) 82, 262 M km
AL NI —TVGER 1 km Y72 0 sk R (I R ) 78, 623 ./ km
ABN—TNIER 1 km Y72 0 fisk Rt (5 i) 81, 580 M km
ALV —TVGER 1 km Y72 0 sk 2% (B E) 78,851 M./ km
ABN—TNER 1 km Y720 fisk ket (ZEHE) 79,078 M km
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ABN—TNER 1 km Y720 fisk Rt (REFR) 95, 582 M. km
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ABN—TNVIER 1 km Y72 0 fisk Rt (5 i) 94, 480 M km
ABN—TNVER 1 km Y720 fisk Rt () 91,172 M km
ABN—TNER 1 km Y720 fisk ket (ZEHE) 91, 447 M. km
ABN—TNVER 1 km Y720 fisk et (GBI 90, 069 M km
AL NI —TVGER 1 km %72 0 sk 2% CREAT) 88, 691 ./ km
ABN—TNER 1 km Y720 fisk Rt (R 90, 896 M. km
ALV —TNER 1 km Y720 fisk Rt (FRER) 87,588 M. km
ABNT—TNER 1 km Y720 sk fhet (REE) 90, 069 M km
AL —TNVIER 1 km Y72 0 Mgk Re (FodkilR) 90, 345 M km
ABN—T VR 1 km G720 fisk et (SEUR) 84, 556 M km
ABN—TNVER 1 km Y720 fisk Rt (BRI 84, 556 M km
ABN—TNVIER 1 km Y72 0 fisk et (i) 86,210 M km
ABN—TNVER 1 km Y720 fisk Rt (L&) 88,415 M km
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MR — T IVHER 1 km 272 0 figkfr 28 CEIRIR) 15,079 M./ km
MMAFRA T — T IVHER 1 km 272 0 figkfr 2% (BKHIR) 14,302 M./ km
MR — 7 IVHER 1 km 272 0 figkfr 28 (LFIR) 14,629 M./ km
MR — T IVIER 1 km 272 0 figkfr 28 (@EIR) 14,874 M./ km
MR — T IVHER 1 km 272 0 figkfr 28 RIRIR) 14,915 M./ km
MRS — T IVHER 1 km 272 0 figkfr 28 AR) 14,752 M./ km
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MAFRIES —T VIR 1 km B 72 0 faskfr 2% (B ER) 15, 529 M. km
MR — T IVHER 1 km 272 0 Mgk fr 2 (FIER) 15, 651 M. km
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ABN—TNER 1 km Y720 fisk Rt (B 91, 447 M. km
ALV —TVFER 1 km Y72 D) figk R (RIGUL) 88,691 M, km
ALV —TVGER 1 km Y72 0 sk 2% (REARK) 87, 588 M./ km
ABN—TNVER 1 km Y720 fisk Rt (R i) 88,415 M km
ABN—TNVER 1 km Y720 fisk R (IR 87,037 M. km
AL —TNVIER 1 km Y72 0 ik teE (FEEBR) 88, 691 M km
ABN—TNVIER 1 km Y720 fisk R (PR 80, 697 M km
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MRS — T IVHER 1 km 272 0 figkfr 2% (AbiEE) 15,745 M./ km
MR — T IVHER 1 km 272 0 Mgkt 28 (FHRE) 14,834 M./ km
MR — T IVHER 1 km 272 0 Mgk 28 CaTIR) 15,381 M./ km
MRS — T IVHER 1 km 272 0 figkfr 28 (CEIRIR) 16,110 M./ km
IMAFRA T — T IVHER 1 km 272 0 figkfr 2 (BKHIR) 15,199 M./ km
MR — T IVHER 1 km 272 0 figkfr 28 (LFFIR) 15,609 M./ km
MR — T IVHER 1 km 272 0 figkfr 28 (@EIR) 15,882 M./ km
MR — T IVHER 1 km 272 0 figkfr 28 (RIRR) 15,882 M./ km
MR — T IVHER 1 km 272 0 figkfr 28 FAR) 15, 700 M./ km
MMAFRIEr — T VAR 1 km U720 Sk R 2 (FEEIR) 15,518 M. km
MAFRIES —T VIR 1 km B 72 0 faakfr 2% (B ER) 16, 610 M. km
MR — T IVHER 1 km 272 0 Mgk fr 2 (FIER) 16,702 M./ km
MMAFRA A — T IVHER 1 km 272 0 figkfr 2 (HaT4) 17,795 M./ km
IMAFRICr — T VIER 1 km 272 0 ke (Rh43)11 1) 16, 747 M/ km
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MMAFRIES —T VIR 1 km B 72 0 Sk 2% CoriaiR) 14, 465 M. km
MR — T VAR 1 km Y72 0 Mgk k2% (& L) 14, 956 M. km
MAFRIES —T VIR 1 km B 72 0 faskfr 2% (A)11ER) 15,038 . km
MAFZH A — T VR 1 km Y72 0 Mgk k2 (IR 13, 606 . km
MAFZH A — 7 VR 1 km Y72 0 Mgk a% (LLBLE) 15, 488 . km
MAFRIES —T VIR 1 km B 72 0 Sk fr 2% (REFR) 14,793 M. km
MMAFRIr — T VAER 1 km 272 0 Jiakfr 2ty (iR 5 14,138 ./ km
MAFZH A — T VAR 1 km Y72 0 Mgk R 2% (FFh05) 14, 670 . km
MAFZH A — T VR 1 km Y72 0 Mgk k2R (B 14,179 M. km
MAFRIES —T VIR 1 km B 72 0 Sk fr 2% (ZEHR) 14, 220 M. km
MIAFZH A — T VR 1 km Y72 0 Mgk k2R (BB 14,179 M. km
MAFZH A — T VAR 1 km Y72 0 Mgk 2 (RUERI) 13,934 M/ km
AR — 7 NAEE 1 km 72 0 fig iR % CRBF) 14,343 M./ km
IMAFRIr — T VAR 1 km Y472 Sk (R % (JLER) 13,811 ./ km
MR — 7 VR 1 km Y72 0 Mgk R 2E (KRB 14,179 . km
MBI — 7 VAR 1 km Y72 0 figk ka2 (Fnakil 1) 14, 261 . km
MR — 7 VAR 1 km Y72 0 Mgk k2% (SRR 13,197 M/ km
MR — 7 VR 1 km Y72 0 Mgk R (BIRE) 13,197 M/ km
MMAFRIES —T VIR 1 km 472 0 faak a2 (R 1LIR) 13, 443 M. km
MR — T VR 1 km Y72 0 Mgk R 2E (LR E) 13,729 M. km
MAFZH A — 7 VAR 1 km Y72 0 Mgk % (L m ) 13,565 M. km
MAFZHr — 7 VR 1 km Y72 0 Mgk k2 (A5 14, 097 M. km
MAFRIES —T VIR 1 km S 72 0 Sk fr 2% (F)IR) 14,302 M. km
MR — T VR 1 km Y72 0 Mgk k2 (BEE) 13,852 M/ km
MR — 7 VAR 1 km Y72 0 MigR R (Fak) 13,852 M. km

AT — 7 NAER 1 km 72 0 gk iR a2 (i) 15,381 ./ km
MR — 7 VR 1 km Y72 0 Mgk k2% (& L) 15,882 M. km
AR — 7 NAER 1 km 72 0 g iR a2 Ca)llR) 15,927 ./ km
MAFZH A — T VR 1 km Y72 0 Mgk k2 (IR 14, 242 M. km
MAFZH A — 7 VR 1 km Y72 0 g% (LLBLE) 16,474 M. km
AR — T NAEE 1 km 72 0 g iRt (REFIE) 15,791 ./ km
MMAFRAr — T VAER 1 km 272 0 fiakfr 2t (i R4 15,017 ./ km
MAFZH A — T VR 1 km Y72 0 Mgk R (Frh0L) 15, 609 M. km
MAFZH A — T VR 1 km Y72 0 Mgk 2R (Bm) 15, 062 M. km
AR — T NAER 1 km 72 0 g iRt () 15,108 ./ km
MAFZHr — T VR 1 km Y72 0 Mgk k2% (BB 14, 880 M. km
MR — T VR 1 km Y72 0 g2 (RUERI) 14, 652 M/ km
AR — 7 NAEE 1 km 72 0 Mg iR % CRBRF) 15,017 ./ km
MAFZH A — T VAR 1 km Y72 0 Mgk 2% (JLEER) 14, 470 M. km
MAFZH A — T VR 1 km Y72 0 Mgk R EE (KRB 14, 880 M. km
MARIAr — 7 VAR 1 km Y72 0 fiigk ka2 (Fnakil i) 14,925 M. km
MR — 7 VAR 1 km Y72 0 Mgk R (SRR 13,969 M/ km
MR — 7 VR 1 km Y72 0 Mgk 2 (BIRE) 13,969 M/ km
AT — 7 NAER 1 km 72 0 Mg iR a2 ([ L) 14, 242 ./ km
MBS — T VR 1 km Y72 0 Mgk 2 (LR E) 14, 607 M. km
MBI — 7 VR 1 km Y72 0 Mgk % (L m ) 14, 333 M. km
MAFZHRr — 7 VR 1 km Y72 0 Mgk k2 (EE5) 14, 652 M. km
AR — 7 NAER 1 km 72 0 g iRt (F)I1E) 14, 880 ./ km
MAFZH A — 7 VR 1 km Y72 0 Mgk k2 (BER) 14, 425 M/ km
MAFZH A — T VR 1 km Y72 0 Mgk R (Fak) 14, 425 M. km




MMAFRAr — T VIER 1 km 272 0 sk fr 2% (@ i ) 14, 261 ./ km
MR — T IVHER 1 km 272 0 Mgk fr 2 (FEEIR) 14, 097 M./ km
MR — T IVHER 1 km 272 0 figkfr 28 (RIIR) 13,688 M./ km
MR — T IVHER 1 km 272 0 figkfr 2 (REARIR) 13,525 M./ km
MR — T IVHER 1 km 272 0 figkfr 2 (R IR) 13,647 M./ km
MR — T IVHER 1 km 272 0 figkfr 2 (R IR) 13,443 ./ km
MR — T IVIER 1 km 272 0 Mgk fr 28 (FEVEEIR) 13, 688 M./ km
IR — T IVHER 1 km 272 0 figkfr 2% (FhRRIR) 12,543 M./ km
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kR — T VHER 1 km 72 0 iR AR (ALiRE) 91, 899 M./ km
kR — T VIER 1 km S 72 0 iR 2 (FARE) 86, 512 M. km
kR — T VHER 1 km Y72 0 iR A OF TR 89, 590 M, km
kR — T VHER 1 km Y72 0 iR AR (B 93,951 M, km
kR — T VHER 1 km 72 0 MR AR (B 89, 077 M, km
kR — T VHER 1 km Y72 0 iR A (LB 91,129 M, km
kR — T VHER 1 km 72 0 iR A (R IR 92, 668 M, km
kR — T VHER 1 km 72 0 R A (KR 92,925 M, km
kR — T VHER 1 km 72 0 iR A (FARL) 91,899 M, km
kR — T VHER 1 km Y72 0 iR A (BEBIR) 90,616 M, km
kR — T VHER 1 km Y72 0 iR A (B ER) 96, 772 M./ km
kR — T VHER 1 km Y72 0 s R AR (FHER) 97, 542 M, km
kR — T VHER 1 km 72 0 s R A GRS 104, 210 M, km
TR — T VSER 1 km Y72 0 Sk Rt ()11 ) 98, 055 M./ km
kR — T VHER 1 km 72 0 iR A (HTEBIR) 90, 103 M, km
kR — T VHER 1 km 72 0 Mg AR (5 LI 93,181 M, km

IMAFRA A — T IVHER 1 km 272 0 figkfr 2% (@ i 1) 15, 335 M./ km
MR — T IVHER 1 km 272 0 figkfr 28 (FEEIR) 15, 108 M./ km
MR — T IVHER 1 km 272 0 figkfr 28 (RIIR) 14,652 M./ km
MARIEr — T NVAER: 1 km %72 0 fiaR iR E (REAIR) 14,470 M km
MR — T IVIER 1 km 272 0 figkfr 28 (R IR) 14,607 M./ km
MMAFRA T — T IVHER 1 km 272 0 figkfr 28 (R IR) 14,379 ./ km
MRS — T IVIER 1 km 272 0 Mgk fr 28 (FEVEEIR) 14, 652 M./ km
IR — T IVHER 1 km 272 0 figkfr 2% (FhRRIR) 13,332 M./ km
ISR —7 VIR RIRE Y 72 0 S ik R4t 120 | HM/IEl#R
kR — T VHER 1 km Y72 0 Mgkt (ALiRE) 95, 232 M, km
kR — T VHER 1 km Y72 0 iR A (FARE) 89, 685 M, km
kR — T VHER 1 km Y72 0 iR A OF TR 93,013 M, km
kR — T VHER 1 km Y72 0 iR A (B 97, 450 M, km
kR — T VHER 1 km 72 0 s R AR (B 91,904 M, km
kR — T VHER 1 km Y72 0 iR A (LB 94, 400 M, km
kR — T VHER 1 km 72 0 iR A (R IR 96, 064 M, km
kR — T VHER 1 km 72 0 iR A (KR 96, 064 M, km
kR — T VHER 1 km Y72 0 iR A (FARR) 94, 954 M, km
kR, — T VHER 1 km Y72 0 iR A (BEBIR) 93, 845 M, km
kR — T VHER 1 km 72 0 iR A (B ER) 100, 501 ./ km
kR — T VHER 1 km Y72 0 Mg R AR (FHER) 101, 056 M, km
kR — T VHER 1 km 72 0 MR A GRS 107, 711 M, km
kR — T VSR 1 km Y72 0 Sk Rt ()11 ) 101, 333 ./ km
kR — T VHER 1 km Y72 0 iR A (TR 93,013 M, km
kR — T VHER 1 km Y72 0 Mg iRt (5 LI 96, 064 M, km

gl



HPHRERIG S — 7 VIER 1 km B 72 0 fask et (A)IR) 93,694 3./ km
HPHRERIG S — 7 VIER 1 km B 72 0 fisk 2t (R 84,717 M. km
HPHRERIG S — 7 VIER 1 km B 72 0 fisk et (L2 96,516 . km
HPHRERIG S — 7 VIER 1 km B 72 0 fisk 2t (RER) 92,155 . km
HPHRERIG S — 7 VIR R 1 km B 72 0 fisk Rty (kR 88,051 . km
HHRERIG S — 7 VIER 1 km B 72 0 fisk Rty (i) 91, 386 M. km
PHRERIG S — 7 VIER 1 km B 72 0 fisk et (BRI 88,308 M. km
PHERG S — 7 VIER 1 km B 72 0 fisk et (ZHEIR) 88, 564 . km
HHRERIG S — 7 VIER 1 km B 72 0 fisk et (REIR) 88, 308 M. km
HPHRERIG S — 7 VIER 1 km B 72 0 fisk et ORI 86, 769 M. km
HPHRERIG S — 7 VIER 1 km B 72 0 fisk et ORI 89,334 M. km
HHERIG S — 7 VIER 1 km B 72 0 fisk Rty (JeElR) 85,999 . km
PHERIG S — 7 VIER 1 km B 72 0 sk 2t (REIR) 88, 308 M. km
PHRERIG S — 7 VIER 1 km B 72 0 fid et (Faskl i) 88, 821 M. km
HPHRERIG S — 7 VIER 1 km B 72 0 fisk et (BHUR) 82, 152 . km
HPHRERIG S — 7 VIER 1 km B 72 0 fisk Rt (BRI 82,152 . km
HPHRERIG S — 7 VIER 1 km B 72 0 fisk Rty (F L) 83,691 M. km
HHERG S — 7 VIER 1 km B 72 0 fisk et (AR 85, 486 M. km
HPHRERIG S — 7 VIER 1 km B 72 0 fisk et (L AR 84, 460 M. km
PHRERG S — 7 VIER 1 km B 72 0 fisk et (TEER) 87,795 M. km
HHRERIG S — 7 VIER 1 km B 72 0 fisk et (BN 89,077 3./ km
HPHERIG S — 7 VIER 1 km B 72 0 fisk et (BRI 86, 256 M. km
HHRERIG S — 7 VIER 1 km B 72 0 fisk et (BkniR) 86, 256 M. km
HHRERG S — 7 VIER 1 km B 72 0 fisk Rty (@R i) 88, 821 M. km
HHERG S — 7 VIER 1 km B 72 0 fisk et (R 87,795 M. km

HHRERIG S — 7 VIER 1 km B 72 0 fisk et (aJIlR) 96, 341 3./ km
HPHRERG S — 7 VIER 1 km B 72 0 fisk et (R 86, 080 M. km
HPHRERIG S — 7 VIER 1 km B 72 0 fisk et (L2 99, 669 M. km
HHRERG S — 7 VIER 1 km B 72 0 skt (RER) 95,509 M. km
HPHRERIG S — 7 VIR R 1 km B 72 0 fisk iRty (kR 90, 794 M. km
HHRERIG S — 7 VIER 1 km B 72 0 fisk Rty (i) 94, 400 M. km
HHRERIG S — 7 VIER 1 km B 72 0 fisk et (BRI 91,072 M. km
PHRERG S — 7 VIER 1 km B 72 0 fisk et (ZEHIR) 91, 349 M. km
HHRERG S — 7 VIER 1 km B 72 0 fisk et (REIR) 89, 962 M. km
HPHRERIG S — 7 VIER 1 km B 72 0 fisk et ORI 88,576 M. km
HPHRERIG S — 7 VIER 1 km B 72 0 fisk et ORI 90,794 M. km
HHRERIG S — 7 VIER 1 km B 72 0 fisk Rty (JeElR) 87, 467 M. km
HPHRERG S — 7 VIER 1 km B 72 0 fisk 2t (REIR) 89, 962 M. km
PHRERIG S — 7 VIER 1 km B 72 0 fid et (Faskl i) 90, 240 M. km
HPHRERIG S — 7 VIER 1 km B 72 0 fisk et (BHUR) 84,416 M. km
HHRERIG S — 7 VIER 1 km B 72 0 fisk et (BRI 84,416 M. km
HPHRERIG S — 7 VIER 1 km B 72 0 figk Rty (F L) 86, 080 M. km
HHRERIG S — 7 VIER 1 km B 72 0 fisk et (AR 88, 298 M. km
HHRERIG S — 7 VIER 1 km B 72 0 fisk et (LA R 86,635 M. km
HHRERIG S — 7 VIER 1 km B 72 0 fisk et (TERR) 88,576 M. km
HHRERG S — 7 VIER 1 km B 72 0 fisk et (FJINR) 89, 962 3./ km
HPHERG S — 7 VIER 1 km B 72 0 fisk et (BRI 87, 189 M. km
HPHRERIG S — 7 VIER 1 km B 72 0 fisk et (EkniR) 87,189 M. km
HPHERIG S — 7 VIER 1 km B 72 0 fis Rty (@ i) 92, 736 M. km
HHRERIG S — 7 VIER 1 km B 72 0 fisk et () 91, 349 M. km

ol



R — 7 IR 1k %72 0 MR AT (RIIR) 85,230 | M1/ kn
R — 7 IR 1k %72 0 MR T (FEAIR) 84,204 | F1/kn
R — 7 IR 1k %72 0 MR RTE (K4 IR) 84,973 | F1/kn
R o — 7 IR 1k %72 0 MR T (EIIR) 83,691 | 1/ kn
R — 7 AR 1k %7 0 MR R AT (BEIR B R 85,230 | 1/ kn
R — 7 IR 1k %72 0 MR AT (AR 78,048 | F1/km
VBRSO o — 7 VIR 1 kn %72 0 Rkl te (L) 334,378 | [1/kn
VBRSO — 7 VIR 1 kn Y72 0 ik tr (4RI 314,417 | [1/kn
VBRSO /r — 7 VIR 1k %72 0 ikl ete (2T 325,823 | [1/kn
WEEE o — 7 VIR 1k Y72 0 Rk te (EoI) 341,983 | [1/kn
WEEE o — 7 VIR 1 kn %72 0 Raak e te (B IR 323,922 | [1/kn
VBRSO o — 7 VIR 1 kn %72 0 Rt (LIGIR) 331,627 | [1/kn
WEEE o — 7 AR 1k Y72 0 Rt (6 5 337,230 | F1/kn
WEEE o — 7 AR 1k %72 0 iR tr (i) 338,181 | [1/kn
WEEE o — 7 VIR 1k %72 0 iRt (AR 334,378 | [1/kn
WEEE o — 7 VIR 1k Y72 0 Rk tr (BESIR) 320,626 | [1/kn
WEEE o — 7 AR 1 kn Y72 0 Rk tr (SRR 352,439 | [1/kn
WEEE /r — 7 AR 1k %72 0 Rkl etr (T3ER) 355,200 | [1/kn
WEEE o — 7 AR 1 kn %72 0 Rkt (RO50H) 380,005 | [1/kn
WEE 7 — 7 MAE R 1k %72 0 MR R de (Ws)I1) 357,192 | [1/kn
VBRSO — 7 AR 1k Y72 0 iRt (B 327,724 | F1/kn
VBRSO o — 7 AR 1 kn %72 0 Rk te (8 LR 339,131 | [1/kn
VBRSO o — 7 VIR 1k Y72 0 Rkt ()11 341,032 | [1/kn
VBRSO o — 7 VIR 1k %72 0 iR te (IR 307,763 | [1/kn
VBRSO o — 7 AR 1 kn %72 0 Rkt (LBLR) 351,488 | [1/kn

RO — 7 VIER 1 kn 247 0 AR A (IR 88,576 | [1,/kn
RO — 7 VIER 1 k247 D R R A (BEARIR) 87,467 | /kn
R — 7 VIER 1 km 247 0 R R A (K4IR) 88,298 | [/kn
R — 7 VIER 1 k247 D R R A (IR 86,912 | [/ kn
RO — 7 VIER 1 kn %7 0 KRR A (FEVEE ) 88,576 | [1,/kn
R — 7 VIER 1 km 247 D R R A (HRER) 80,533 | [/kn
WEEIE A — 7 VAER: 1k 72 0 ik R de ClLisi) 321,302 | F1/kn
WEEIE A — 7 VAER: 1k 72 0 HERR R AT (TR 302,266 | [1/kn
WEEIE A — 7 VHER: 1k 72 0 iRk TE (T 313,688 | [1/kn
WEEIE A — 7 VHER: 1k 472 0 HEAR AR AT (R 328,017 | M1/ kn
WEECIE A — 7 VHER: 1k 472 0 AR AR AT (BRI 309,880 | [1/kn
WEEIE A — 7 VHER: 1k 472 0 HEAR AR AT (LI 318,447 | [1/kn
WEEIE A — 7 VAER: 1k 472 0 HEAR AR AT (1 B ) 324,158 | [1/kn
WEEIE A — 7 VHER: 1k 472 0 HEAR AR AT (IR 324,158 | [1/kn
WEEIE A — 7 VAER: 1k 472 0 AR AR AT (W5 AR 320,350 | [1/kn
WEEIE A — 7 VHER: 1k 472 0 AR AR T (BEFS ) 316,543 | [1/kn
WEEIE A — 7 VAER: 1k 72 0 AR T0 (B ER) 339,387 | [1/kn
WEEIE A — 7 VHER: 1k 72 0 iRk Te (T3 341,200 | [1/kn
WEEIE A — 7 VAER: 1k 472 0 AR AT (RUSCHR) 364,134 | [1/kn
RIS o — 7 VAR 1 km 7= 0 Mk R (i) 1]1R0) 342,242 | 1/ kn
WEEIE A — 7 VHER: 1k 72 0 HEAR R AT BB 313,688 | [1/kn
WEEIE A — 7 VHER: 1k 72 0 AR AR AT (LR 324,158 | [1/kn
WEEIE A — 7 VHER: 1k 472 0 AR R AT ()11 ) 325,110 | M1/ kn
WEEIE A — 7 VHER: 1k 72 0 MGk R AT (R IFIR) 289,892 | M1/kn
WEEIE A — 7 VAER: 1k 72 0 HERR AR AT (LIALR) 336,531 | [1/kn

+ 1



VBRSO o — 7 MR 1 kn %72 0 MGt ete (REFIR) 335,329 | [1/kn
VBRSO o — 7 VIR 1 kn Y72 0 Rkl te (2 IR) 320,120 | [1/kn
VBRSO o — 7 AR 1k %72 0 Rk te (§6 IR 332,477 | [1/kn
VBRSO o — 7 AR 1k %72 0 Rkl te (B 321,071 | [1/kn
WEEE r— 7 VIR 1 kn %72 0 ikl ety (SR 322,021 | [1/kn
VBRSO o — 7 AR 1k Y72 0 Rkl ety (IR 32,071 | [1/kn
WEEE o — 7 AR 1 kn %72 0 Rkt GRosbig) 315,367 | [1/kn
VBRSO o — 7 AR 1 kn %72 0 Raak et B 324,873 | [1/kn
VBRSO — 7 VIR 1k %72 0 Rkl ety (iR 312,516 | [1/kn
WEEE r— 7 VIR 1k Y72 0 ik tr (Z5R IR 32,071 | [1/kn
WEEK 7 — 7 AAER 1k %72 0 MRt de (Rl ) 322,072 | [1/km
VBRSO o — 7 AR 1k Y72 0 Rk te (B IUR) 298,257 | [1/kn
VBRSO o — 7 AR 1k %72 0 Rk tr (BRI 298,257 | [1/kn
VBRSO o — 7 AR 1k %72 0 faak ety (7 1R 303,961 | [1/kn
WEEE o — 7 AR 1k %72 0 iRt (55 310,615 | [1/kn
VBRSO o — 7 AR 1k %72 0 SRt (L0 ) 306,812 | [1/kn
VBRSO /r— 7 AR 1k %72 0 Rk ety (5 ) 319,169 | [1/kn
VBRSO — 7 VIR 1k %72 0 ikl te (B)11R) 323,922 | [1/km
VBRSO — 7 MR 1k %72 0 iRty (Bl 313,466 | [1/kn
VBRSO o — 7 VIR 1k %72 0 Rkl ety GBI 313,466 | [1/kn
WEEE /r — 7 VIR 1k %72 0 Rkt (IR 322,012 | [1/kn
WEEE r — 7 AR 1k %72 0 iR tr (eI 319,169 | [1/kn
VBRSO o — 7 VIR 1 kn Y72 0 Rkl te (R 309,664 | [1/kn
VBRSO r — 7 VIR 1k Y72 0 Rkt (AR 305,862 | [1/kn
VBRSO o — 7 VIR 1k %72 0 Rk R s (Josy i) 308,713 | [1/kn

VBRSO o — 7 AR 1 kn Y72 0 iRty (REFIR) 322,264 | [/kn
WEEE o — 7 VIR 1k Y72 0 Rty (i 2 0R) 306,073 | [/ kn
VBRSO o — 7 AR 1k %72 0 Rkl te ($6 IR 318,447 | [/kn
VBRSO o — 7 VIR 1k Y72 0 iR te (B 307,025 | [9/kn
WEEE o — 7 VIR 1 kn Y72 0 ikl ety (SR 307,977 | [9/kn
WEEE o — 7 AR 1k %72 0 iRty (IR 303,218 | [/kn
VBRSO o — 7 AR 1 kn %72 0 SRRt GRosbig) 298,458 | [1/kn
VBRSO o — 7 AR 1k %72 0 Raak et IR 306,073 | [1/kn
WEEE o — 7 MR 1k %72 0 ikl ety (iR 294,651 | [1,/kn
WEEE r — 7 VIR 1k %72 0 R tr (ZER ) 303,218 | [/kn
WEE 7 — 7 MR 1k %72 0 MRt R de (Rl ) 304,169 | [1/kn
WEEE o — 7 AR 1k %72 0 Rk tr (SR 284,181 | [9/kn
VBRSO — 7 VIR 1 kn %72 0 Rk tr (BRI 284,181 | [9/kn
VBRSO o — 7 AR 1k %72 0 faak ety (7 LI 289,802 | [1/kn
VBRSO o — 7 AR 1k %72 0 Rkt (55 297,507 | [1/kn
WEEE o — 7 VIR 1 kn %72 0 SRt (L0 R 291,796 | [1/kn
WEEE /r — 7 AR 1k Y72 0 Rk te (5 ) 298,458 | [/kn
VBRSO — 7 VIR 1k %72 0 ikl te (&)1 303,218 | [9/kn
VBRSO o — 7 VIR 1k %72 0 Rkl tr (Bl 293,699 | [1/kn
WEEE o — 7 VIR 1k Y72 0 faak e te GBI 293,699 | [1/kn
VBRSO o — 7 VIR 1k %7 0 Rkt (IR 312,736 | 1/kn
WEEE /r — 7 AR 1k %72 0 iR te (eI 307,977 | [/kn
VBRSO o — 7 VIR 1k Y72 0 Rkl te (R 298,458 | [/kn
VBRSO — 7 VIR 1 kn Y72 0 Rkt (AR 294,651 | [1,/kn
WEEE o — 7 VIR 1k %72 0 Gk R gt Kooy i) 297,507 | [1/kn

1 im



MRS — 7 VIER 1 km M7 0 ik PR (516 IR) 303,961 M, km
WHE 7 — 7 VIER 1 km 72 0 Mg (R (R S IR) 309, 664 M, km
WIS — 7 VEER 1 km Y72 D) figk PR (UL 283, 049 M, km
WHIER 1k 272 0 iR (R4 46, 227 M. kn
PORE K ER 1 kn %7 0 iR AR 46, 227 M. kn
LOEER 1km %72 Y ik {22 46, 227 M.k
HFEVEER 1km 2472 0 sk 2% 46, 227 M km
BAAE BRI 1 kn 2472 0 Mg 2 46, 227 M, km
BRI FEIEAE R 1 km 2472 0 g% R 46, 227 M km
BRI 2B B b 0. 04325 —
b o R W AR (R A e B 0.01427 —
AR (RE R MRk (R 22 R B AL R 0.06793 —
[m&]

BOLERAE  (HAMERER) TiSMRIRAE R 1 km 272 U JRR PR 4,214 M km
B (HPNARES) THNRRIESE R 1 km %72 Y fEak iR 2 1,038 M, km
BELRA (s MERAAR) M 2% (R e e B A Le 3R 0.02088 —
S50 A G R R B e VAL 0. 01427 —
[m&]

ST A R A Bk A b 0.02910 —
TH. 8 R O SR R A B B AR 0. 001455 —
[m&]

I L — 8 Y 7 b = TR R R G R 0.09174 —
T = YT Y= TR R R G R 0. 08845 —
CS Y7 MY =T sk fhef s ERIL R 0. 07202 —
BIFRL— 2 Y 7 7 = 7 s R e o B G e 0. 07000 —

MBS — 7 VEER 1 km Y72 D) fligk R (516 UL 292, 748 M, km
WHEE I — 7 VIER 1 km 72 0 Mg (R (B R S IR) 298, 458 M, km
MRS — 7 VEER 1 km Y72 D) fligk PR (UL 270, 856 M, km
WHIER 1k 272 0 iR R4 T 46, 489 M. kn
OB ER 1kn 47 0 iR 46, 489 M. kn
LOEER 1km %72 0 k{22 46, 489 M. kn
HFEVEER 1km 2472 0 gk 2% 46, 489 M km
BIAAE BRI 1 kn 247 0 Hi g 2 46, 489 M, km
AR R R 1 km 2472 0 f gk R 46, 489 M km
BRI 2B B b 0.03128 —
b o R W AR (R A e B 0.01364 —
AL (RE R MRk (R 22 R B AL R 0. 06952 —
(7172

BOLERAE  (AMBRER) TSR R 1 km 272 U JE R PR 3,960 M km
B (HPNARE) THNBRISE R 1 km %72 Y fEak iR 22 1,106 M, km
BELRAR (s MEARAAR) M 2% (R e e B A Le 3R 0.02688 —
S50 A A R R B e VAL 0. 01364 —
(7172

ST M R A R A 0.03101 —
TH. 8 E R O SRR R A B B AR 0. 001665 —
(7172

SN L — 8 Y 7 b = TR R R G R 0. 09875 —
AT =2 YT Y= TR R G R 0. 08869 —
CS Y7 MY =T sk fhef sH G R 0. 08789 —
BIFRL— 2 YV 7 7 = 7 s R e o B G e 0. 08590 —

11



SBCY 7 MY =7 sk G AR 0. 09453 —
ENUMY—/Y 7~ 7= 7 gk 2o g 4a LR 0. 09460 —
DN SH—Y 7 b7 = 7 iR AT B A g 0.09333 —
[m&]

TEHE 1A 72 0 E K 5 AR 230 M A
R 1 km 2472 0 B R AR 26, 850 M./ km
ORI 1 km X4 72 0 SE R b R 268, 270 M./ km
L 938 1 km 272 0 B 5 AR 597, 080 . km
TEHA > 7 2 1km 2472 0 B S AR 3,143 M. km
BB B 1 km 272 0 38 R o5 R 3,143 M./ km
ARSI 1k 272 0 & R 3,143 M./ km
TSR 1 52572 0 W TR 48 M/ A
SR A L 5 8 T SRHR G A LR 0.001707 —
TSRS 2 e e e L L 32 0.001988 —
T PR i 2 o PR e B e L 0.001975 —
AR A 2 e e R A L 0.000787 —
WL R A LR 0. 003701 —
LI 2 4 e B AR L 36 0. 004065 —
R B OV i ol 25 e P e B i R 0. 0006616 —
B A A e B AR LR 0. 00001651 —
TH. & HE RO i L2 g R 0. 0007199 —
AR FE e R R Y L R 0. 02456 —
FHALEE LR (XX ] P &) 0.1247 —
EHIGETIR Ot 1 PER) 0.1507 —

TR RO AF 5%

SBCY 7 MY =7 ikt G R 0. 10575 —
ENUMY—/Y 7~ 7= 7 gk 2o g 4a R 0. 10573 —
DN SH—Y 7 b7 = 7 iR AT o B g 0. 10555 —
(717 ]

TR 1A 72 0 B K 5 AR 248 M A
R 1 km 2472 0 B R AR 29, 225 M./ km
ORI 1 km X4 72 0 SE R R 292, 027 M./ km
L 9B 1 km 272 0 B 5 AR 615, 336 M. km
WA Y 7 A2 1km M7 0 BB 5 AR 3,239 M/ km
BB B 1 km 2 72 0 38 % o5 R 3,239 M./ km
ARSI 1k 272 0 & R 3,239 M./ km
SRR AR 15X 7 0 B R 52 M/ A
SR A L 5 8 T SRHR G A LR 0.002797 —
T AR 2 e e B L L 36 0.001866 —
T PR A 2 o PR e B e L 0.001981 —
R A e G AR b R 0. 0008598 —
TR B e BB R bR 0. 002464 —
LI 2 o b B AR L 36 0.006274 —
AR R OV 8 4 2 0 PR e P i A 0.001048 —
ST R e PR o B AR R 0 —
T, 985 R O i 2 A S AR R 0.001072 —
FRBRAITFE R Y L R 0.02522 —
FHILmA R (A Z L1 PHE) 0.1136 —
FEMm A LE (O 1 PR 0.1344 —

TR RO AF 5%

+ Bl



(5] [ 2]

BRATE A H I —T 36.5 & REAZ N =T N 39.9 *

WFRA BN —T 45.5 4 WFA SN —T N 44.5 *
(5] [ 2]

B 66.65 o B 65.6 £2

o 66. 65 us o R 65.6 &
(5] [ 2]

AEARIEEE 66. 65 us AEARIEEE 65.6 4
(] [l 4]
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